iy chowge to 909
AP Calcul A
2.4 Worksheet Cofted

| work must be shown in this course for full credit. Unsupported answers may receive NO credit.

1. What is a difference quotient? Llavn) — S‘Z( o)
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2. How do you find the slope of a curve (aka slope of the tangent line to a curve) whenx=a ?
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3. What is a normal line ? DQ Larve oty Y=
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4. What is the difference between the AVERAGE RATE OF CHANGE and INSTANTANEOUS RATE OF CHANGE?
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b) Find the slope of the curve at x=a. )
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) d) Write the equatlon of the tangent line_ hne to the curve at x =4 [6 - LY = ng (‘)( "—P\
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7. Let g(x)=+/x
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¢) Write the equation of the tangent line when x =9 il we did on the nols ,
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- d) Write the equation of the normal line when x = 9.
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8. Let y= ——1—1 . @;nd the slope of the curve at; = 2.\ Using this slope, write the equation of the tangent line and the
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equation of the normal line at that point. Teol ¢
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9. Let y=x" —3x—2. Find the slope of the curve at x = 0) Using this slope, write the equation of the tangent line and
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10. Find an equation of the tangent line to the graph of f (x) = 3 atx=1.
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11. An object is dropped from the top of a 150-m tower. It’s height above the ground after 7 seconds is 150 — 4.9 m.
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12. What is th@v\o?@f the area of a circle with respect to the radius when the radius is 4 in? l/f?O! At ~44(0)
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13. At what point is the tangent line to 9(x)=x2 —6x+1 horizontal? o~ (% '
Seot horzmtzd divues have Sope O ¥ l/m or 1 i
J 2
Jim uﬂh\— (Y = i (("w\\ U (et ) *\) - (>< Ty +‘\>
) n h=>0 - - o
, pont ok )%V\%U‘%~
o MDA e on A 4By A w2
- W
=0 3@ = (B -L3) +
= lim 2xih +n? A (XB\ =-%
h-D g L
= w2t o) . The Aongent line
) h=+0 i Shpe = O s hovrizontad at
-t gt et o s puint. (39),
- A =l :
= Ix+0-lb X =2 _
Cormulo. v Slope of tan, ling,™ Lx-b tongent Lt 1S Vorvontal

whwen y =3



N’



